
 

 

A. Choose the correct answer: 
1. Which of the following is a coin used in Indian currency 

 a. ₹1    b. ₹100 

 c. ₹2000   d. ₹500 

2. Which of these is the correct symbol for Indian Rupee 

 a. $    b. € 

 c. ₹    d. £ 

3. How many ₹10 notes make ₹100 

 a. 5    b. 10 

 c. 15    d. 20 

4. Which note is NOT in use anymore in India 

 a. ₹500    b. ₹1000 

 c. ₹200    d. ₹10 

5. Which combination makes ₹50 

 a. 5 coins of ₹5  b. 10 notes of ₹10 

 c. 2 coins of ₹20  d. 1 note of ₹100 

B. Write the Missing Terms to Complete the Sentences: 

1. The symbol of Indian currency is _______ 

2. ₹500 + ₹200 = _______ 

3. 10 coins of ₹2 =_______ 

4. ₹1000 − ₹500 =_______ 

5. A ₹50 note is worth half of a ₹ _______ note 

C. Mark each sentence with a True (✔) or False (✘): 

1. ₹1 coin is bigger than ₹10 coin _______ 

2. ₹2000 note is purple in color _______ 
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3. ₹1000 note is still used in India _______ 

4. ₹5 + ₹5 = ₹10    _______ 

5. 5 coins of ₹2 make ₹10  _______ 

D. Figure out the answers to these questions: 

1. Rani has ₹50, ₹20 and ₹10 notes. How much money does she have in total. 

2. Draw or list any four currency notes or coins of India. 

3. Ravi bought a toy for ₹75 and gave ₹100. How much money did he get back. 

4. Write the number of ₹5 coins needed to make ₹25. 

E. Challenge yourself with these questions: 

1. Write 3 ways to make ₹20 using different notes or coins. 

2. If you have ₹500 and you spend ₹275, how much is left. 

3. How many ₹50 notes are needed to make ₹200. 

4. Write a short word problem using ₹10, ₹20 and ₹5 coins. 

5. Find the total amount: ₹100 + ₹50 + ₹20 + ₹10. 
 

  


